NOT Consumable
BC Review Wk 15 Block DO NOT WRITE ON THIS SHEET Show all work on another sheet
1. If f(x)= (lnx)2 ,then f"(Je)=

1 2 1 1 2
A = z — — =
) - B) C)2\/Z D)\/g E)JZ

2. What are all the values of x for which the series Z( ) converges?

n=1

x+1

A) —-1<x<1 B) x>1only C) x=1only
D) x<~-1 and x>1only E) x<-1 and x21

3. Let h be a differentiable function, and let f be the function defined by f(x) = h(x* —3). Which of the
following is equal to f'(2)?

A) h'(M) B) 4h'(1) C) 4h'(2) D) h'(4) E) 4h'(4)

4. In the xy-plane, the line x+y=k, where k is a constant, is tangent to the graphof y = x? +3x+1 What is the

value of k?

4) -3 B)-2 C) -1 D) 0 E) 1
Tx

5: dx =

I(2x—3)(x+2) '
A) 31n|2x-3|+21n|x+2|+c B) 3In|2x-3|+2In|jx+2|+C

2
C) 3In|2x-3|-2In|x+2[+C Dy —— - 2_ic EB-—> 4

(2x-3) (x+2) (2x-3) (x+2)

2 n
(In2) . (In2) )
2!

6. What is the sum of the series1+In2 +-——+..... +——'—+ .....
n!
A) In2 B) In(1+1n2) C) 2 D) ¢ E) The series diverges
X 0 1
f(x) 2 4
fx) 6 =)
g(x) -4 3
G'(x) 2 -1

1
7. The table above gives values of f,f,g,and g’ for selected values of x. If _[f'(x)g(x)dx =5, then
0

[f(0g (x)de =

A) —14 B) -13 C) -2 D) 7 E) 15
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